Самостоятельная работа 

по теме: «Решение алгебраических уравнений»
Вариант 1
1. Решите уравнение:   
     а) 2х2 + 3х – 2 = 0;      б) х3 - 3х2 - 4х + 12 = 0;
     в) х3 +2х2 –5х – 6 = 0.
2. Сократите дробь:   
[image: image1.wmf]12

6

7

2

3

-

+

+

-

õ

õ

õ

õ

.
__________________________________________________________________
Самостоятельная работа 

по теме: «Решение алгебраических уравнений»
Вариант 2

1. Решите уравнение:   

     а) х2 - х – 20 = 0;      б) 2х4 –5х3 –18х2 +45х = 0;

2.      в) 6х3 –5х2 –17х +6 = 0..

3. Сократите дробь:   
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